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»
Reced: L]o(x) dx  represents the si area  between y=fla)
and the x-axis. W

Goal + To cakubde avea letwean iwo  curves

Nehce Hat o  we subbract these v oress, we get
exactly e area we want,

Ths, the area A arf) Tl regien bounded b‘j tha  curves Y= feo
ad 4= g, and the verticdd lmes  x=a’ and x=b, where
-f ord 9 ore centinuows with  fod 2z 909 on Ca,b]

A= fab (fuc) - joa)] dx )

Bemark We can WA the restvickion 002 9 on
[3,b] with o slght wedificattn (1), We can do Hhis

-&u\t‘mﬂ absetute vaJMN) Se were ¢ c;HveJ« ,_e,.,..’, -l-dans
‘ib‘;jc las ger function  minw the sw»%rﬁéou.

A ‘-f: ]f(x) - a) | dx @)
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1 Fnd the oarea yf the region bourded oy
y=x* ad Y= W-x5.

Noke  Always drew o picture!

We want [ [Top - Bettom™]

B a0 - Ll

Prs a? iMerSection o x - g‘XJL
s [ = %
£ 3

ExZ Find e area lbetwsen. Y+ tanx end Y= 2sinx

on the 1ntervel [:g,, 3.
;\3—»1:(“'\7(

: ~

: ; 2)
Tris sheuld ok ' Wk &,
e L ‘e —2.5tnX
e 9% oxXAS . “7{': . p

. (

i

The —wn curves  indersect of (p,0). We nead b owk

e other pont MF |nder sectisn, We do  Hhis oy seiting the
o egns aq,w«? o one  ansther.

tonx = 2sinx
L . ) STK We' ve a—fraol-j corsidered Sinx=o,

Ces X

Z = Cesx
x= T
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$> +tha bound v the rJ ] -E and Yha
Qarea .«P ﬁf’“&\do&u‘ rfﬁnm »om?m.lg ,

A- ./:,g stmx - ‘tm«az_.] dx
U= Cosx

s
"ZCosxlo-!- f%ﬂ du= -siny 4%

‘51_

Ty
= ‘25057‘!0/1 * lnu[.
s(2)t2m)+ Llnt - a 1]
= | +lnk
= ) -lnZ

Bt thy onlcj \"alf Yo area. We could rc.pe.a.‘\’%
Process »F.- the area betwea. the cumes on C‘S:, 0y, or

Wie S‘rv\m.:l\’y +v  Concluwle
[A=2-21n2 |

Queation, Find The arec  lounded bj e cCurves lefsj“= 12
ond x=y.
Dm‘\’j a prchuee’
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Pl i s in =X, Wwe get (-(.,"b) and (2,2)
04 “%QH?B of m*l-&rse.chjhf\. ?

Here we con’'+ fﬁ "Eu't‘hm"l, But  reca 70»\
1) et ey ')uo:fpnl?u.f\s If?zrsw - spaller . Se  wite

X as a 7Q.m:fruu o+ R Med Lo
peJ (Rt - 1]

So the area For Hhis  problem is gen by
i I!g ) my) ey
= 3 - 4 .3 i e ‘le
y Y "2yl
=(30) - (2% - (0 ]~ [ 366 -& (0)° -+ (0)* ]

- T ]

7robhp Find the number b such that  Hhe line ‘j”b
divides the region beunded b.’ The curves y=x* and Y=y
inbs dwe  regions  with eq,u.al area. .
Sl
T” L 'ﬁj Swmmedny, we  Con vestrict curseluas
xRy _._,\qy/.fx'l b fha  fost ?_unolmn‘*- Sirca we want h
- S —ﬁw\ h sudh thet Yhe area S TR R N
half,  we vt Yhe we pads b hoe
ocee. “This preblen  becomes Prety easy jl?

we ke Tdy” We want+

4 s T
Laay =4 §ay LN S0
b q AU
[0y dy= L7 9™ b . 4
b I “
g_\js/—,_[o - %.33 \b b= y¥> 7

% bSh. - %(qm;__b‘én)
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Ty Maxy bee masaJ \oreak on (M{\(}rd
inty  smalle pads that e lne

&Lqu To f\m\ orea leetween two curves -

1) Peter mine whether twere 15 2 Top t Botom 'P\w‘.'\‘fm

ov \A'H and (ZWU ‘F\thc'hb'\ If not, break down the
Nﬂ\bt\ o odhreve thiy,

2) Top/ Bottom : f['r ~Gsttom | (x qwes  area
Lc{*/ﬂzu' L(ﬂzru Left) dly Gives  Ored.

3) To fad pomis ,)0 intersectien, set eguatins eguaf
+ o/\\ru ancien e? ?

| 3 w//



